Ответы на тест:

1.Б
2.В
3.Г
4.В
  

Задачи:


№1


ZnO+CO=Zn+CO2


+2            0     НОК
Zn+2e=>Zn       2        1 (Zn является окислителем)


+2       +4 
C-2e=>C            2        1 (C является восстановителем)

№2

MgCO3=MgO+CO2 (при нагревании)
CO2+MgO=MgCO3
MgCO3+CO2+H2O=Mg(HCO3)2
Mg(HCO3)2+2HCl=MgCl2+2CO2 (газ) +3H2O 


№3

CaCO3+2HCl=CaCl2+CO2+H2O
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Составим пропорцию:
135 г                               x
CaCO3+2HCl=CaCl2+CO2+H2O
100 г/моль                    22,4 л/моль
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Ответ: V(CO2)=30,24 л;
m(CO2)=59,4 г.;
n(CO2)=1,35 моль.
_1455472360.unknown

_1455472592.unknown

_1455472674.unknown

_1455472812.unknown

_1455472512.unknown

_1455471899.unknown

